




30

35

28

26

24

18

09

06

05

03



it’s

Activo



Activo



OAGWA

OAGWA

T8.3

OAGWA

Activo



x 6

Washer m8 x 6Bolt m8*55 x 4

OAGWA

Activo



Activo

7



Activo

1 Base 1 40 Rear end cap left 1

2 Incline frame 1 41 Rear end cap right 1

3 Main frame 1 42 Base cover(left&right) 2

4 Left upright 1 43 Base cover board 2

5 Right upright 1 44 Side rail cover 2

6 Handrail rack 1 45 Side rail 2

7 BoltM10*55 1 46 End cap supportboard 1

8 BoltM10*45 5 47 Handrail foam 2

9 BoltM8*55 2 48 Motorbelt210J-6 1

10 Screw￠4*20 8 49 Cushion￠25*33*M8 8

11 BoltM8*25 1 50 Base foot 4

12 BoltM8*30 4 51 Base movingwheel 2

13 BoltM8*35 4 52 Frame movingwheel 2

14 BoltM8*40 3 53 Magnetringfoam 1

15 Screw ￠4*12 2 54 Runningboard1220*605*T15 1

16 BoltM8*65 3 55 Runningbelt460*2870*T1.6 1

17 BoltM8*20 8 56 U socket 1

18 BoltM5*28 8 57 Cable grommet￠24*￠15*6 1

19 Screw￠4*15 7 58 Power cord 1

20 Screw￠4*12 30 59 DC Motor 1

21 Screw￠3*10 4 60 Inclinemotor 1

22 Screw￠4*12 22 61 Power switch 1

23 NutM10 6 62 Magneticring￠28*￠16*13 1

24 NutM8 11 63 Circuit breaker 1

25 Washer ￠11*￠22*2.0 6 64 Air cyclinder 1

26 Washer ￠9*￠16*T1.6 12 65 Upper controller 1

27 Springwasher M8 4 66 Controller 1

28 Springwasher M10 4 67 Safety key 1

29 Front rollerdia 1 68 Upper cables 1

30 Rear rollerdia 1 69 Middlecables 1

31 Console upperbox 1 70 Under cables 1

32 Console underbox 1 71 Audilcables 1

33 Console PCB uppercover 1 A BoltM8*55 6

34 Console PCB undercover 1 B BoltM8*15 4

35 Fronthandrailbar uppercover 1 C Screw￠4*15 6

36 Fronthandrailbar undercover 1 D Washer￠9*￠16*T1.6 10

37 Handrail cap 2 E Wrench S13.15 1

38 Frontmotorcover 1 F WrenchS5 1

39 Motorcover 1 G WrenchS6 1

8



Activo

9



Activo

NOTICE
●Read thismanualbeforeassembly
●Recognize the spare parts first
●Check thehardware
●Ensure thatyou have the righttool
●Prepare an area toassemble
●Followthe instructionaccordingly
●Never force the joints
●Periodicallytightenthe joints
●Keep thismanualwithyou

10



Activo

11



Activo

12



Activo

13



Activo

14



Activo

15



Activo

16



Activo

WARNING

17



I. Display function

1:LCD Display readout：

1、“SPEED ”：（Referred toas: window1 ）

1.1 display speed

2、“INCLINE/ DIS/CAL”：（Referred toas: window2）

2.1 When“INCLINE”flashes, display theaccumulatedtotalworkoutincline

2.2 When“DIS”flashes, display theaccumulatedtotalworkoutdistance in kilometers

2.3 When“CAL”flashes, display theaccumulatedcalories burnduringworkout

2.4 When you enter intoprogramsports, itwilldisplayprogramnumber

3、“TIME/PULSE”：（Referred toas: window3）

Activo

18



3.1 When“TIME”flashes, display theaccumulatedtotalworkouttimeinminute

3.2 When“PULSE”flashes, display the currentpulse readingin beats perminutewhenthepulse is detectedby

placingBothpalmon the stainless steel handrailpulse kit

3.3 When thevalue displayed, the countdownenter into3 seconds

4、Dotmatrixwindow：

4.1 displaygraphics program

5、Volumeicon: display volume

6、“MANUAL/TIME/DISTANCE/CALORIES/PROGRAM ”displaymanualmode/timemetermode/distancemetermode/

Calories metermode

2: Keyboard function:

PROG. ：Programselectionkey. In theorder:manualmode—P1-P15—U1-U3- FAT

MODE ： Time mode selection key. In the order: manual mode-time mode-distance mode-calories mode. Fat

measurementsmodefor lipidmeasurementparameterselectionkey.

START/STOP ：Press the START buttonand wait 3 seconds for belt begin to move. Press STOP buttonthen the

equipmentwillresume to ready mode.

SPEED ：Speed add and subtract adjustment.Movement speed can be adjusted. Stop can be used to adjust the

parameters.

SPEED （3 6 9 12） ：Speed quickadjustmentbutton

INCLINE ： Incline up and down adjustment. Movement incline can be adjusted. Stop can be used to adjust the

parameters.

INCLINE （2 4 6 8）： Inclinequickadjustmentbutton

Left handrailkey: Inclineadjustmentbutton

Right handrailkey: Speed adjustmentbutton

Volume+/volume-/inthe song/thenext song/startstopbutton：Volumeadjustmentbutton、in the song/thenext song、

start/stopbutton

3. Main function:

Attachthe safety key towake up console in 2 seconds, and thentheequipmentis onmanualmode.

3．1 Manualmode：

Plug in power cord and switch on the equipment,press PROGRAM buttoncan be settled in circle: Program

P1-P15-U1-U3-FAT,press start button,window3 will display:3333－2222－1111,andeach minus one buzzer chirping,

then start the motorizedtreadmillfromminimumspeed. Press speed +/- and incline +/- buttoncan adjust speed and

incline, also can be adjustedby thequick speed on the displayeror handrailbutton.Press STOP buttonor move safety

key thentheequipmentwillresume to readymode.

Activo

19



3．2 Pour metermode：

Press PROGRAM button,you can choose follow:Timemetermode,Distance metermode,Calories metermode.

The correspondingwindowshows thedefaultvalues and flashing.At thismoment,press SPEED buttontoadjustyour

desired value. Press START button,window3 willdisplay:3333－2222－1111,theinitialspeed is 1km/h,pressSPEED

+/-or INCLINE +/-buttontoadjustspeed and incline.When thewindownumericalmetertozero, treadmillslow speed

downto stop.Also, you can press STOP buttonor move safety key thentheequipmentwillresume to readymode.

3．3 Build-inworkoutprogram：

Press PROGRAM button,select any one form P1-P15 as the built-inprograms, time windowwill blink and

display by default.At this moment,press SPEED buttonto adjust your desired value. All the build-inprograms are

made up with10 time-basedsegments. Press START button,treadmillwilldependon 1 time-basedsegment speed

and incline to move in 3 seconds. When finished last segment, programwill be automaticallyarranged to the next

segment. at thesame time,speed and inclinecan be adjustedvalue of this segment.When all of segments is finished,

the programis over, then treadmillwill slow speed to zero. Press SPEED +/-or INCLINE +/-buttonto adjust speed

and inclinewhen treadmillis moving,butwhen intonext segment, it will automaticallyadjust to defaultvalue. Also,

you can press STOP buttonormove safety key thentheequipmentwillresume to ready mode.

Initial
Set the initial

value
Set range Display range

Time(minute/second) 0:00 30:00 5:00-99:00 0:00－99:59

Speed(km/h) 0.0 N/A N/A 1.0－18.0

Incline（xx%） 0 N/A N/A 0-15%

Distance(kilometer) 0.00 1.0 1.0－99.0 0.00－99.9

Pulse(time/minute) P N/A N/A 60－200

Calories(kilocalori) 0 50 10－990 0－999

II. The operation in the process of movement
1：Press speed- can reduce themovingspeed.

2：Press speed+ can increase themovingspeed.

3：Press incline+can reduce the inclineangle.

4：Press incline-can increase the inclineangle.

5：Place bothpalms firmlyon the handrailpulse kit for 5 seconds, the displayer heart rate will indicatethe estimated

heart rate.

6：Press STOP buttonthentheequipmentwillresume to ready mode.

Activo

20



III．Pulse Function
Place both palms firmly on the handrail pulse kit for 5 seconds. Placing both palms will deliver the more accurate

reading.The displayer heart rate indicates the estimatedheart rate. The measurementis notmeant formedical conditions

and/orany specific need of accurate heart ratemonitoringpurposes.

IV﹕Safety key Function﹕

In any of status, take off safety key, window2&3 will indicate“OFF”, and the buzzer is BI-BI-BI. At themoment,

treadmillcan’t do anything.And put in safety key again, all of windowsare reset. devices are reset, Waiting for a

commandinput.

Activo

21



V．Body Fat Scale Function：

In standby mode, press PROGRAM button,windowwill indicate FAT to BODY FAT analysis function.Press MODE

button to select parameters of the category(gender, age, height, weight) .Corresponding window can indicate

F1,F2,F3,F4.Each one parameter selected category, press SPEED+�- button to adjust parameter value. When all of

parameter are adjusted, press MODE buttonagain, correspondingwindowwill indicate F5 and—，to enter The state of

under test, thenplace bothpalms on the handrailpulse kit for 5 seconds and the body fat readingwillbe displayedon the

correspondingwindow.

5.1 The inputparameterdisplay and settingrange

Parameter category Defaultvalue Settingrange Note

Gender（-1-） 00（male） 00—01 00=male01=female

Age（-2-） 25 years old 10—99 years old

Height（-3-） 170 CM 100—220 CM

Weight（-4-） 70KG 20—150KG

5.2 Body Fat

Index（BMI） Obesity degree

<19 thin

19--26 normal

26--30 overweight

>30 obesity

VI．Dormancy Function：

１﹕When motorizedtreadmillstops, we don’t have press any buttonsin 10 minutes, itwillentera dormantstate.

２﹕In a dormantstate, you can press any buttonsto resume console.

Activo

22



Program instruction：schedule

Time
Program

10 segments

1 2 3 4 5 6 7 8 9 10

P1
SPEED 3 3 6 5 5 4 4 4 4 3

INCLINE 0 3 3 3 4 4 4 1 1 0

P2
SPEED 3 3 4 4 5 5 5 6 6 4

INCLINE 2 2 2 3 3 3 3 4 4 2

P3
SPEED 2 4 6 8 7 8 6 2 3 2

INCLINE 3 5 4 4 3 4 4 3 4 2

P4
SPEED 3 3 5 6 7 6 5 4 3 3

INCLINE 0 3 3 2 2 5 5 3 3 2

P5
SPEED 3 6 6 6 8 7 7 5 5 4

INCLINE 3 5 3 4 2 3 4 2 3 2

P6
SPEED 2 6 5 4 8 7 5 3 3 2

INCLINE 3 4 5 6 3 5 5 6 4 3

P7
SPEED 2 9 9 7 7 6 5 3 2 2

INCLINE 0 3 3 3 4 4 4 1 1 0

P8
SPEED 2 4 4 4 5 6 8 8 6 2

INCLINE 1 1 4 4 4 5 5 4 3 2

P9
SPEED 2 4 5 5 6 5 6 3 3 2

INCLINE 3 5 3 4 2 3 4 2 3 2

P10
SPEED 2 5 7 5 8 6 5 2 4 3

INCLINE 1 5 6 8 12 9 10 9 5 3

P11
SPEED 2 5 6 7 8 9 10 5 3 2

INCLINE 3 5 6 8 6 5 8 7 5 2

P12
SPEED 2 3 5 6 8 6 9 6 5 3

INCLINE 5 7 5 8 6 5 9 10 6 2

P13
SPEED 2 5 6 9 7 8 5 2 3 2

INCLINE 3 3 4 4 3 4 4 3 4 2

P14
SPEED 3 4 5 6 7 8 5 4 3 3

INCLINE 0 3 3 2 2 4 4 3 3 2

P15
SPEED 3 5 7 7 8 7 7 5 5 4

INCLINE 3 3 3 3 2 3 4 2 3 2

Activo

23



Activo

INSTRUCTION OF FOLDING AND GRADIENT ADJUSTMENT
HOW TO FOLD UP THE TREADMILL
1. FOLD UP:
To foldthedeck you firstneed tobring

the treadmillto the lowest inclinelevel.

Hold the rear cap position(onmain

Frame) firmly,raise the rear side ofMain

frame to foldthe treadmillup,

Then afterhearing“kick”sound, the
machinehas been foldedup.

HOW TO FOLD DOWN THE TREADMILL

2. FOLD DOWN:
A. Step on thedamper(as shownby thearrowon bottommiddle).Both hands holdon to the topend

covers(as shownby thearrowon topleft)and pulldownthe treadmillslowly.

24



Activo

25

Hold the handrail as shown and place 

one foot on top of the wheel.

Tilt the equipment back until it rolls freely 

on the wheels. Move the equipment to 

the desire location with care. DO NOT 

move the equipment without tilting it 

back. DO NOT attempt to move the 

equipment over any uneven surface.

Place one foot on top of the wheel, then 

slowly lower down the equipment until it 

is resting in folded position.

Before move the equipment, ensure the equipment is at folded position as 

illustrates below and the cylinder is irmly hold by the tube.

How to move the equipment 

1.

2.

3.

 



Activo

26



Activo

27



Activo

28

'



Activo

29



Activo

30



Before Workout
Before beginningany exercise programyou shouldconsultyourdoctorfirst todetermineif you have
any medicalor physical conditionsthatcouldputyour healthand safety at risk or any damage. Your
doctor’s advise is essential especially if you are takingmedicine that affects your heart rate, blood
pressure or cholesterol level. We do not suggest you to use the machine unless you have your
doctor’s advice.
Be aware of yourbody’s signals. Incorrector excessive exercise can damageyourhealth. If you feel
dizziness, nausea, chest pain, back pain or other health symptoms stop the workoutat once and
consultyourdoctorbeforecontinuing.
Do warm-upexercises.
Never insertany objects intoany openingon the treadmill.
Wear appropriateworkoutclothingwhileexercising. Do notwear robes or otherclothingthatcould
become caught in the machine. Running or aerobic shoes are also required while using the
machine.
Never turnon the treadmillwhilesomebodyis standingon the runningsurface.
Before using themachine,please check thenuts and boltsare securely tightened.

DuringWorkout
Proceed withcautionwhengettingon or off the treadmill.Use thehandrailswheneverpossible. Do
notstep off the treadmillwhilethebeltis runningat highspeed.
Keep all loose clothingand towelsaway fromtherunningsurface.
To get on runningsurface, straddlethe runningsurface by standingon the rightand left footrails on
each side of thebeltbeforestartingthebelt.
The treadmillis capable of high speed. To avoid sudden jumps in speed, adjust the speed in small
increments.
Keep handaway fromall movingparts.
Always insert the safety key and attach the clip to your clothes at your waist before beginningyour
workout.If you encounterproblemsand need to stop the motorquickly, simply pull the safety key
fromthecomputer.
Never leave the treadmillunattendedwhileit is running.
Never attemptto turnaroundwhileof the treadmillwiththe belt running.Keep your head and body
facingforwardat all times.
Do notoverexertyourself duringyourworkout.If you feel any pain or discomfort,stop yourworkout
immediatelyand consultyourphysician.
Always use the equipment as mentioned. If any defective components while assembling or
checkingthe equipmenthas been found,or you hear any unusual noises fromthe equipmentduring
use, stop immediately. Do notuse theequipmentuntiltheproblemhas been rectified.

Activo

31



AfterWorkout
Decrease the speed gradually,thenpress thebutton“STOP ”on the computer.

To get off the runningsurface, straddle the runningsurface by standingon the rightand left footrails on each

side of thebeltafter thebelthas stopped.

Remove the safety key and store it away in a safe place whenthe treadmillis not in use. Keep the safety key

away fromchildren.

Do warm-downexercises at the end of yourworkout.

When you finishyourworkout,followpage 17 to foldup the treadmillfor storage.

Regularly inspect and tightenall parts of the treadmill.

Always unplug the power cord before performingthe maintenance and adjustmentprocedures described in

thismanual. Do notremove themotorcover unless instructedtodo so by an authorizedservice representative.

Servicing other than the procedures in this manual should be performed by any authorized service

representativeonly.

To disconnect, turnthepowerswitchto theOFF positionbefore removingthepowerplugfromthewall outlet.

Keep all electrical components, such as themotor,power cord and ON/OFF switch away fromwater or other

liquidsto preventshock. Do not set anythingon the handrail, computerconsole or belt. Never place liquidson

any partof theunit.

Do not modify or attemptany service on the treadmill yourself other than the assembly and maintenance

described in thismanual.

Activo

32



First try to findyourhear beatingrate. Tomake sure yourheart is beatingin its targetzone. You’ll need toknow

how tomonitoryour heart rate. The easiest way is to feel the pulse in the carotidartery on either side of your

neck. Between the windpipeand the large neck muscle. Count the number of beats in ten seconds, Then

multiplyby six. This gives you thenumberof beats per minute.

How fast shouldyourheart beat duringaerobic exercise? Fast enoughto reach and stay in its ”targetzone ”,

a range of beats per minutethat is largely determinedby your age and physical condition.To determineyour

targetzone, consult the chartwe have provided.

Aerobic exercise is any sustained activitythatsends oxygen to yourmuscles via your heart and lung . It will

improvefitness is promotedby any activitythat, uses your large muscle groups-arms legs or buttocks, for

example. Your heart beats quickly and you breathdeeply an aerobic exercise should be part of your entire

exercise routine.

A successful exercise program consists of a warm-up, aerobic exercise. And a cool-down. Do the entire

programat least twoand preferably three times a week, resting for a day betweenworkouts,after several

months,you can increase yourworkoutsto fouror five timesper week.

Warmingup is an importantpart of your workout,and should beginevery session. It prepares your body for

more strenuous exercise by heating up and stretchingout your muscles, increasing your circulationand

pulse rate, and deliveringmore oxygen to your workout, repeat these exercises to reduce sore muscle

problems.We suggest the followingwarm-upand cool-downexercise.

WARM UP AND COOL DOWN Stretchingroutine

Activo

33



1. Inner Thigh Stretch

Sit withthe soles of your feet togetherwithyour knees pointingoutward.Pull your feet as close intoyour

groinas possible. Gently push your knees towardsthe floor.Hold for 15 counts.

2. HamstringStretch

Sit withyour rightleg extend. Rest the sole of your left footagainst your rightinner thigh.Stretch toward

your toe as far as possible. Hold for 15 counts. Relax and thenrepeatwithleft leg extend.

3. Head Roll

Rotate your head to the rightfor one count, feelingthe stretchup the left side of your neck. Next, rotate

your head back for one count, stretchingyour chin to the ceiling and lettingyour mouthopen. Rotate

yourhead to the left for one count, and finally,dropyour head to your chest for one count.

4. Shoulder lift

Lift your rightshoulderup towardyour ear for one count. Then liftyour left shoulderup for one countas

you loweryour rightshoulder.

5. Calf-Achilles Stretch

Lean against a wallwithyour left leg in frontof the rightand your arms forward,

Keep your right leg straight and the left foot on the floor, then bend the left leg and lean forwardby

movingyourhips towardthewall, Hold, thenrepeat on theotherside for 15 counts.

6. Side Stretch

Open yourarms to the side and continueliftingthemuntiltheyare over yourhead, Reach your rightarm

as far upwardtowardthe ceiling as you can for one count, Feel the stretch up your rightside, Repeat

this actionwithyour leftarm.

7. Toe Touch

Slow bend forward from your waist, lettingyour back and shoulders relax as you stretch towardyour

toes, Reach downas far as you can and holdfor 15 counts.

Activo

34



Activo

35



OAGWA

故障分析

运动建议

36

63

68

61

59

57

52

43

40

39

37

目录



Activo 安全说明

37



Activo 安全说明

38



Activo 保修说明

OGAWA

OGAWA

OGAWA

39



主架 x 1 左右护盖 x 2 十字圆头自攻螺丝 M4*15 x 2

半圆头内六角螺丝

M8*15 x 4

半圆头内六角螺丝

M8*55 x 4

平垫片 x 6

十字开口扳手 x 1内六角扳手5#/6# x 2夕力康油 x 1

Activo 产品配件

OGAWA

40



Activo 产品配件

41



1 底座 1 40 左后尾盖 1

2 扬升架 1 41 右后尾盖 1

3 主架 1 42 立柱护盖(左--右) 2

4 左立柱 1 43 立柱护盖修饰版 2

5 右立柱 1 44 侧边条 2

6 前横扶手架 1 45 正边条 l 2

7 螺丝 M10*55 1 46 后护角修饰条 1

8 螺丝 M10*45 5 47 扶手泡棉 2

9 螺丝 M8*55 2 48 马达皮带 210J-6 1

10 自攻螺丝 ￠4*20 8 49 缓冲垫 ￠25*33*M8 8

11 螺丝 M8*25 1 50 调整脚垫 4

12 螺丝 M8*30 4 51 底座移动轮 2

13 螺丝 M8*35 4 52 大架移动轮 2

14 螺丝 M8*40 3 53 磁环海绵护套 1

15 自攻螺丝 ￠4*12 2 54 跑板 1220*605*T15 1

16 螺丝 M8*65 3 55 跑带 460*2870*T1.6 1

17 螺丝 M8*20 8 56 U 型插座 1

18 螺丝 M5*28 8 57 环形护线塞 ￠24*￠15*6 1

19 自攻螺丝 ￠4*15 7 58 电源线 1

20 自攻螺丝 ￠4*12 30 59 DC 马达 1

21 自攻螺丝 ￠3*10 4 60 扬升马达 1

22 自攻螺丝 ￠4*12 22 61 电源开关 1

23 螺母 M10 6 62 磁环 ￠28*￠16*13 1

24 螺母 M8 11 63 过载保护器 1

25 垫片 ￠11*￠22*2.0 6 64 气弹簧 1

26 垫片 ￠9*￠16*T1.6 12 65 上控 1

27 弹簧垫片 M8 4 66 下控 1

28 弹簧垫片 M10 4 67 安全锁 1

29 前滚筒 1 68 通讯线上 1

30 后滚筒 1 69 通讯线中 1

31 电子表上盖 1 70 通讯线下 1

32 电子表下盖 1 71 音频线 1

33 表芯上盖 1 A 螺栓 M8*55 6

34 表芯下盖 1 B 螺栓 M8*15 4

35 前横扶手上盖 1 C 螺丝 ￠4*15 6

36 前横扶手下盖 1 D 垫片￠9*￠16*T1.6 10

37 扶手管塞 2 E 扳手 S13.15 1

38 马达前盖 1 F 扳手 S5 1

39 马达盖 1 G 扳手 S6 1

Activo 产品配件

42



Activo 产品安装

43



Activo 产品安装

注意

● 安装前请仔细阅读说明书

● 先清点所有的配件

● 检查工具

● 确保使用正确的工具

● 准备好地方进行安装

● 按照步骤进行安装

● 逐步锁紧螺丝

● 保存此说明书

44



Activo 产品安装

45



Activo 产品安装

从螺栓组中找到图纸上列出的下列零件，按 1:1 的比例排列，然后按照图示完成组装。

步骤

46



Activo 产品安装

步骤

47



Activo 产品安装

步骤

48



Activo 产品安装

步骤

49



Activo 产品安装

步骤

50



Activo 产品安装

1: 打开或者折叠跑步机的时候请不要站在跑步机下面

2: 确保跑步机与电源断开。你可以按下主电源开关关掉跑步机

警 告

51



1. 窗口显示

1.1“TIME ”窗口：显示运动时间。正向计时从 00：00~99.59；倒计时则从设定时

间递减至 0，当倒计至 0：00 时跑步机平稳降速停止运行且显示“End”，完全

停止后进入待机模式。

1.2“DISTANCE”窗口：指示当前的运动距离。距离正向计数从 0~99.9 ，溢出后

从 0 开始重新计数；距离倒计则从当前设定值递减至 0，此后跑步机停止动作，

显示 End, 完全停止后进入待机模式。

1.3“CALORRIES ”窗口：正向计数从 0~999，溢出后从 0 开始重新计数；卡路里

倒计时，则从设定值开始递减至 0，倒计至 0 后跑步机跑步机平稳降速停止运

行且显示“End”，完全停止后进入待机模式。

Activo 产品使用说明

52

一﹕窗口和按键说明：



1.4“PACE”窗口:显示当前速度跑步 1 公里需要的时间。

1.5“PULSE”窗口：有心跳输入时显示心跳值，无心跳输入时显示 P，在设置选择

状态下显示“P1~15- U1~U3-Hr1~2”。测心跳其计算范围为：40～220。PULS E
窗口下的心形图标闪烁，表示侦测到心跳。

“SPEED”窗口：显示当前速度值。

1.6 点阵窗口：左侧显示速度对应的点阵图，右侧显示坡度对应点阵图。

1.7 米字悬浮窗口：流动显示提示字符串。如待机时，流动显示[客户 LOGO]。运

动状态下，流动显示[PRESS STOP FOR TRAINING FINISHED] 。程式选择状

态下显示 [FIXED PROGRAM - PRESS START FOR QUICK START OR
PRESS PROGRAM TO SELECT OR USE SPEED +/- KEYS TO ADJUST
TIME] 。 时间、距离、卡路里倒计设置时 ，分别流动显示 [TIME
/DISTANCE/CALORIES COUNT DOWN- PRESS START FOR QUICK
START OR USE SPEED +/- KEYS TO ADJUST
TIME/DISTANCE/CALORIES] 。 在 Hrc 及 BODYFAT 显 示

SEX/AGE/HEIGHT/WEIGHT 等信息。

1.8 椭圆形“跑道“窗口：已经跑的路程长亮显示，当前闪烁的位置表示当前的所在

跑道的位置，一圈 400M。每跑 400M循环显示。

2. 按键功能说明

2.1“START”键：开启电源，打开安全开关，若在待机模式下按下 START 键可启

动跑步机，此时默认速度为 1KM,扬升自动复位为 0。若在固定程式、用户自

设、Hrc 模式下按 START 启动，则跑步机按照预设值动作，并累计数值。

2.2“STOP”键：运动状态下按 STOP 键,时间窗口显示 END,跑步机扬升速度降为

0。5 秒后返回待机界面。

2.3“SPEED+”、“SPEED-”为速度加减键：启动后用于调整速度，其调整幅度值

为 0.1km/次，当持续按住超过 0.5 秒时自动持续递增或递减。其他模式下用

于调整设定数值大小。

2.4“INCLINE +”、“INCLINE -”为坡度加减键：启动后用于调整速度，其调整幅度值

为 1 度/次，当持续按住超过 0.5 秒时自动持续递增或递减。其他模式下用于

调整设定数值大小。

2.5“PROG“键：待定状态选择各个模式切换。包括 P01~P15，15 个固定程式、

U1~U3，3 个用户自设模式。2 个心率控速程式 Hrc、体脂测试模式 BODYFAT 。

共 15 个固定模式，每按一下切换一个模式，当持续按住超过 0.5 秒时自动持

续切换。在选择各种模式时均可使用速度和坡度加减键来设定相关数值，设定

完成后按“START ”键即可启动跑步机；

2.6“MODE”键：待机模式下，按此键可循环设置“15：00”、“1.0”、“50”（15：00
为时间倒计，1.0 为距离倒计，50 为卡路里倒计），可使用速度和坡度加减键

来设定相关倒计数值，设定完成后按“START”键即可启动跑步机。在 Bodyfat、
Hrc 模式下，按此键可进入性别 年龄 身高 体重的设定。

Activo 产品使用说明

53



2.7 SPEED 快捷键：可快速设置坡度值为 3、6、9、12
INCLINE 快捷键：可快速设置速度值为 2、4、6、8

2.8 音乐控制键：可控制输入音乐的开始/停止，音量的大小，上一首下一首音乐

切换。

※註：任何有效按键按下均有 Bi 声提示音，当按键作参数调整超限时会伴有长音

提示。

3. 功能模式说明

3.1 运动模式：按 START 键快速启动，时间正计，速度 1.0KM/H，扬升 0 段，按速

度和坡度加减键可手动调节速度和扬升。

3.2 倒计模式：在待机模式下，按 MODE 键可进入时间倒计、距离倒计、卡路里倒

计。可使用速度和坡度加减键来设定相关倒计数值，设定完成后按 “START ”键即

可启动跑步机，跑步机从设定值开始倒计，倒计至 0 跑步机自动停止动作，返回

待机界面。

3.3 固定程式（P01~P15）：按 PROG 键选择 P01~P15 中的一个模式，用速度和坡

度加减键设置好时间（时间可选范围 5~99：00，默认 10：00），按 START 键执

行程序，跑步机按照固定程式预设值动作，时间每间隔（Time/10）*60秒变化一

次速度、扬升值，矩阵窗口每个程式变化 10段。左右矩阵显示高度越高速度或扬

升越大，越低速度或扬升越小。预设固定程式数值见固定程式表。

3.4 用户自设模式（U1~U3）: 按 PROG 键选择 U1~U3模式，U1~U3初始默认速度

为 3KM/H，坡度为 0；用速度加减键设置好时间（时间可选范围 5：00~99:00，
默认 10：00），按 MODE 键进入第一段的速度、坡度值设置，按 SPEEED+/- 、

INCLINE+/-键来调整数值选择所需数值；设置好第 1 段再按 MODE 键进入第 2
段设置，如此直到第 10 段，全部设置完成后，再次按下 MODE 键会有“bibibibi”
四声提示音，表明系统已经自动保存设置的数值，按开始键即可按照设定值启动

跑步机。断电、复位后再次进入，仍然保存设置的数值，清除 EEPROM 记忆体

资料后，回到默认值。

3.5 心率控制程式 Hrc：按 PROG 键选择 Hrc 模式，用速度和坡度加减键设置好时间

（时间可选范围 10~99，默认 10：00），按 MODE 键进入年龄设置，默认 30，
15~80可选。再按 MODE 键，可计算得到预设心跳值，按 START 键执行程序。

开始 1 分钟热身，模式速度 1KM/H，时间 0 可手动调节速度、扬升。倒计结束后

开始 Hrc 时间倒计，运动过程中若检测到的心跳值低于预设心跳值，则速度增加

0.8KM，速度最大增加到 10KM。当速度最大时，若心跳值仍低于预设值，则增大

坡度。坡度最大升至 8 段；若检测到的心跳值低于预设心跳值，若有坡度则先减

小坡度，若无坡度则降低速度 1KM。

Activo 产品使用说明

54



3.6 体脂测试模式 FAT：按 PROG 键选择 FAT 模式，按 MODE 键进入设置性别、年龄、身

高、体 重,每选定一个参数类别，按速度和坡度加减键来调整数值。所有参数设置完成后，

再次按下 MODE 键，窗口显示“---“，此时按住手握把自动输入心跳，便可计算得出身体肥胖

指数。注：此模式必须有心跳输入才能使用。

3.7.1 输入参数默认值与设定范围

参数类别 默认值 设定范围 备注

性别 MAN MAN/WOMA
N

MAN为男性，WOMAN 为女性

年龄 30 15~80 周岁

身高 170 100~200 单位：CM
体重 70 20~150 单位：KG

3.7.2 体脂指数对照

体脂指数（BMI） 肥胖程度

<19 偏瘦

19~26 正常

26~30 超重

>30 肥胖

3.6 睡眠模式：在待机模式下 10分钟内没有按下任何按键，进入睡眠模式，画面全部

关闭，只需按任一按键即可唤醒，唤醒后进入待机模式。

3.7 安全模式：遇紧急情况，拉下安全夹，跑步机即可停止动作，显示 E07,关闭安全

夹系统重新开机。

3.8 蓝牙模式：配合使用藍牙模塊與APP操作，即可通過該手機軟件查看在跑步

运动量。

3.9 MP3 功能：主板包含集成功放，连接播放设备可播放音乐。

4. 运动参数显示与设定范围

显示范围 程式默认值 模式默认值 设置范围

速度(KM/H) 0~18 ┈ 1.0 1~18

时间(MIN)
0:00~99.5

9
10：00 15：00 5：00~99:00

距离(KM) 0~99.9 ┈ 1.0 0.5~99.9
扬升 0~15 ┈ 0 0~15
卡路里(Kcl) 0~999 ┈ 50 10~999
扭力值（gc3） N/A N/A N/A N/A
轮径 N/A N/A N/A N/A

Activo 产品使用说明

55

機上的



5. 固定程序表:

各个 Program之 Profile值如下：

Time
Program

10 segments
1 2 3 4 5 6 7 8 9 10

P1
SPEED 3 3 6 5 5 4 4 4 4 3

INCLINE 0 3 3 3 4 4 4 1 1 0

P2
SPEED 3 3 4 4 5 5 5 6 6 4

INCLINE 2 2 2 3 3 3 3 4 4 2

P3
SPEED 2 4 6 8 7 8 6 2 3 2

INCLINE 3 5 4 4 3 4 4 3 4 2

P4
SPEED 3 3 5 6 7 6 5 4 3 3

INCLINE 0 3 3 2 2 5 5 3 3 2

P5
SPEED 3 6 6 6 8 7 7 5 5 4

INCLINE 3 5 3 4 2 3 4 2 3 2

P6
SPEED 2 6 5 4 8 7 5 3 3 2

INCLINE 3 4 5 6 3 5 5 6 4 3

P7
SPEED 2 9 9 7 7 6 5 3 2 2

INCLINE 0 3 3 3 4 4 4 1 1 0

P8
SPEED 2 4 4 4 5 6 8 8 6 2

INCLINE 1 1 4 4 4 5 5 4 3 2

P9
SPEED 2 4 5 5 6 5 6 3 3 2

INCLINE 3 5 3 4 2 3 4 2 3 2

P10
SPEED 2 5 7 5 8 6 5 2 4 3

INCLINE 1 5 6 8 12 9 10 9 5 3

P11
SPEED 2 5 6 7 8 9 10 5 3 2

INCLINE 3 5 6 8 6 5 8 7 5 2

P12
SPEED 2 3 5 6 8 6 9 6 5 3

INCLINE 5 7 5 8 6 5 9 10 6 2

P13
SPEED 2 5 6 9 7 8 5 2 3 2

INCLINE 3 3 4 4 3 4 4 3 4 2

P14
SPEED 3 4 5 6 7 8 5 4 3 3

INCLINE 0 3 3 2 2 4 4 3 3 2

P15
SPEED 3 5 7 7 8 7 7 5 5 4

INCLINE 3 3 3 3 2 3 4 2 3 2

Activo 产品使用说明

56



1. 折叠:

折叠跑步机之前先把扬升降到最低位，

然后抓住两个后尾盖中间位置，

把主架抬起来。

听到“咔”的声音后，跑步机完成折叠。.

2. 打开:

踩上气弹簧（如底部箭头所示），双手握住顶端的盖（如左上箭头所示），慢慢地拉下跑步机。

Activo 产品移动

57



Activo 产品移动

58



Activo 产品保养

59



Activo 产品保养

60



Activo

异常状况 可能原因 检查方法 解决方法

电子表无显示

1、线材不良 1、线材是否断开 更换线材

2、电子表不良
3、更换一个电子表试

机
更换电子表

3、电源线没插好 4、检查电源线 插好电源线

E01

1、电控与电子表通信受

阻

检查电子表到电控线

材是否插好
连接好线材

2、电控 IC 没装到位
检查并将电控 IC 插到

位
将 IC 脚插到位

3、变压器损坏 变压器输出有无电压 更换变压器

E02

1、检查保险管是否损坏

或脱落

检查电控上的保险是

否完好
插好保险

2、马达线没有插好 马达线是否松动 插好马达线

E03 光感磁感信号受阻

检查线材是否插到位 将线材插好

检查光感应器是否对

准风叶感光孔
对好光感孔

E05 负载过重 检查电跑是否被卡住
调整好电跑从

新开机

E07 磁石没有放置到位 磁石位置有无错位
调整好磁石位

置

手柄快捷键功

能相反

启动/停止与速度外拉线

插反
手握柄焊线是否正确

从新焊接好握

把连线

61

这台跑步机的设计是以用户安全为第一优先事项，在发生电气故障时，跑步机

会自动关闭，以防止用户受伤，并防止损坏昂贵的部件，如电机。当你在跑步

机上遇到不寻常的行为时，只需走到跑步机的前面，关掉电源开关，并对跑步

机产生反感。这应该清除偶然的错误，准备跑步机再次正常运转。如果你在重

新启动电源开关后重新启动跑步机，跑步机仍然不能运行，那么就应该给你的

经销商打电话了。

如果电子表显示如下：

故障分析



Activo

62

故障分析

故障解决方法

问题 原因 解决办法

跑步机无法启动

1 电源线没有接通

2.安全锁没有放

3.家用断路器跳闸

4.过载保护器跳闸

5.电源开关没打开

1.接通电源

2.安全锁放置在电子表相应位置上

3.恢复断路器

4.复位过载保护器

5.打开电源开关

跑带打滑
1. 跑步带不够紧

2. 马达皮带不够紧

1.调紧跑步带

2.调紧马达皮带

跑带卡顿
1.润滑不足

2.跑带太紧

1 加润滑油

2.调整跑带松紧

跑带跑偏 跑带两侧松紧不一样 调节跑带使其居中

第三点，请参照下图寻找位置。

过载保护器位置



Activo

63

运动建议

注意

开始锻炼之前，请仔细阅读手册，并随时保存本手册。

该设备已经过测试，证明在类家用EN957最低只。

用户的最大重量：140kgs 。

确保你收集了所有必要的工具，你可能需要安装单位妥善。

手头上所有的设备都能节省时间，使装配迅速。

确保你清除了足够大的空间来正确地组装这个单元。

确保空间不受任何可能在装配过程中受伤的伤害。

保持跑步机在室内，远离湿气和灰尘。

不要把跑步机放在车库或覆盖的院子里，室外或水边。

让宠物和小孩始终远离跑步机。

保持至少2500mm（L）* 1500mm（W）安全区后面的跑步机。

在水平的固体表面组装和操作跑步机。

将插头和电源线远离受热面。

不要在使用气雾剂（喷雾）产品或氧气的地方操作。 



Activo

64

运动建议

运动中：

踏上跑步机时要小心谨慎。尽可能使用扶手。当皮带高速运转时，不要踩下跑步

机。把所有松动的衣服和毛巾远离跑步的表面。踏上跑面时，在开始皮带之前，站

在皮带两侧的左右脚轨上，跨过跑步的表面。跑步机有很高的速度。为了避免突然

的速度跳跃，以小的增量调整速度。远离所有活动部件。在开始锻炼之前，一定要

插入安全钥匙并将夹子系在腰部。如果你遇到问题，需要迅速停止电机，只需从电

脑上拔出安全钥匙。跑步时千万不要让跑步机无人看管。不要试图在跑步机上转动

皮带。始终保持头部和身体向前。不要用力过猛在你的锻炼。如果你感到疼痛或不

适，立即停止锻炼并咨询医生。始终使用所提到的设备。如果在安装或检查设备时

发现了任何有缺陷的部件，或者在使用过程中听到设备有任何不正常的噪音，请立

即停止。在问题得到纠正之前不要使用设备。 

运动前： 

在开始任何锻炼计划之前，你应该先咨询你的医生，以确定你是否有任何可能使

你的健康和安全受到威胁或任何损害的医疗或身体状况。医生的建议非常重要，特

别是当你服用了影响心率、血压或胆固醇水平的药物时。我们不建议你使用这台机

器，除非你有医生的建议。注意你身体的信号。不正确或过度运动会损害你的健康。

如果你感到头晕、恶心、胸痛、背痛或其他健康症状，马上停止锻炼，然后继续咨

询医生。做热身运动。不要把任何物体插入跑步机上的任何开口。运动时要穿合适

的运动服。不要穿能在机器上被抓住的长袍或其他衣物。使用机器时还需要跑步或

有氧鞋。当有人站在跑步的表面时，千万不要打开跑步机。在使用机器之前，请检

查螺母和螺栓是否紧固。



65

Activo 运动建议

逐渐减速，然后按电脑上的“停止”键。要离开运行的表面，横跨在运行的表面

上，站在左右两侧的脚轨道上的皮带后，带已停止。在不使用跑步机时，将安全

钥匙取出存放在安全的地方。把安全钥匙放在远离儿童的地方。在锻炼结束时做

些热身运动。当你完成锻炼时，按照第17页把跑步机折叠起来存放。定期检查并

拧紧跑步机的所有部件。在执行本手册所述的维护和调整程序之前，始终拔掉电

源线。除非获授权服务代表指示，否则不得拆下马达盖。本手册以外的服务应由

任何授权的服务代表执行。要断开电源，请从电源插座上拆下电源插头之前，将

电源开关转到OFF位置。将所有电器部件，如电动机、电源线和开关开关远离水或

其他液体以防止触电。不要在扶手、电脑控制台或皮带上设置任何东西。不要把

液体放在装置的任何部分。除了本手册所述的组装和维护之外，不要自行修改或

尝试跑步机上的任何服务。

运动后：



66

Activo 运动建议

一个成功的运动计划包括热身运动和有氧运动。冷静下来。整个计划至少每周

两次，最好是三次，在锻炼之间休息一天，几个月后，你可以每周锻炼四到五

次。热身是你锻炼的一个重要部分，应该开始每一个会话。

它通过加热和伸展你的肌肉，增加你的循环和脉搏速度，以及为你的运动提供

更多的氧气来准备你的身体进行更剧烈的运动，重复这些练习来减轻肌肉疼痛

的问题。我们建议下面的热身和放松练习。

热身和放松          伸展运动

有氧运动是任何持续的活动，通过你的心和肺把氧气输送到你的肌肉。举个例

子，如果你用你的大肌肉群、手臂、腿或臀部，任何活动都能促进健身。你的

心跳得很快，你呼吸得很深，有氧运动应该是你整个锻炼过程的一部分。

首先，试着找出你的心跳率。确保你的心脏在目标区域跳动。你需要知道如何

监控你的心率。最简单的方法是在颈动脉的两侧感受到脉搏。在气管和大脖子

肌肉之间。在十秒钟内数一数拍数，然后乘以六。这就给出了每分钟的拍数。

有氧运动时你的心跳应该有多快？足够快到达并停留在它的“目标区域”，每

分钟的拍频范围主要取决于你的年龄和身体状况。若要确定目标区域，请参阅

我们提供的图表。 



67

Activo 运动建议

1.大腿内侧伸展。尽可能靠近你的腹股沟,轻轻地把膝盖朝地板推,坚持15次。

2.腘绳肌伸展，右腿伸展。把左脚的脚掌放在右大腿内侧,尽可能向你的脚趾

  伸展,坚持15次。放松，然后重复左腿伸展。

3. 将头向右旋转一次，感觉到颈部左侧的伸展。接下来，把头往后转一次，把

  下巴向上伸展，让你的嘴张开。把头向左转一次，最后，把头垂到胸前一次。

4. 肩部抬起右肩，向耳边抬起一次。然后，当你降低右肩的时候，抬起你的左

  肩一次。

5. 小腿伸展。靠墙，左腿在右前，手臂向前，右腿伸直，左脚在地板上，然后

  弯曲左腿，向前移动你的臀部向墙壁移动。等一下，然后在另一边重复15次。

6. 向一侧伸展手臂，继续抬起手臂，直到它们越过头部，将右臂向上伸到天花

  板，一次数一次，感觉到右臂的伸展，用左臂重复这个动作。

7.脚趾从腰部向前缓慢弯曲，当你向脚趾伸展时，让你的背部和肩膀放松，尽

  可能地向下伸展，保持15次。 



Activo

68




	1: T46说明书
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43
	页 44
	页 45
	页 46
	页 47
	页 48
	页 49
	页 50
	页 51
	页 52
	页 53
	页 54
	页 55
	页 56
	页 57
	页 58
	页 59
	页 60
	页 61
	页 62
	页 63
	页 64
	页 65
	页 66
	页 67
	页 68
	页 69
	页 70

